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B % 1 ¥ A 58 2,358 45 19 1,122 56 25 W 5,883 30 12 e 4,761 2,524 A 166
oW OE ¥ B 237 2,223 46 19 1,098 18 0 HE 8,152 42 22 H T 7,054 2,159 64
®OfE ¥ A 6 2,180 45 10 1,143 52 2 I 3,614 50 20 e 2,471 1,711 469
e Ed T 42 2,132 43 12 1,078 62 5 HE 4,005 45 22 H T 2,927 1,893 239
% ] T 36 2,394 40 16 1,375 | 33 12 e 6,317 39 19 e 4,942 2,277 117
& [0 T 41 2,392 31 8 1,054 | 31 9 HE 6,750 57 16 H T 5,696 2,321 71
S T 55 2,851 41 17 1,096 27 4 I 9,537 33 4 e 8,441 2,368 483
4 T 12 2,450 38 15 1,550 28 3 R 3,783 47 23 H T 2,233 2,345 105
o F (R Bk ) 55 3,051 44 18 1,563 49 17 H & 5,541 55 25 e 3,978 2,654 397
i R — &) 23 1,695 53 13 1,437 29 1 HE 3,065 52 25 H T 1,628 2,738 A 1,043
B xo® kT 8 3,719 35 14 3,250 | 23 5 e 3,875 56 33 e 625
B xok T 13 4,049 51 26 3,750 | 69 39 HE 4,342 56 25 H T 592 4,976 A 927
+ R — fik fHFE & 33 3,169 51 27 2,067 59 41 W 5,867 | 45 22 WIE 3,800 2,700 469
Moo < L 8 2,389 53 25 1,359 | 71 35 HE 3,250 | 41 22 H T 1,891 2,283 106
= B 4 1,917 64 37 1,250 80 60 I 2,544 67 27 e 1,294 1,417 500
i “ T 5 2,610 41 19 2,226 33 8 HE 2,875 53 30 H T 649 2,856 A\ 246
ZOE OB B A 18 1,748 53 12 1,180 77 22 I 2,267 59 16 W 1,087 1,499 249
WP 4 B B 78 1,299 58 8 1,016 70 5 HE 2,760 67 12 H T 1,744 1,316 A 1T
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" S o o 1011|1125 1250 11375 [ 1500/ | 16259 [ 1750 | 1875 | 20001 [ 2125F] | 2250 | 2375 | 2500
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1) I VRS VS VS S IS S IS o e S IS o IR o VRS IS Ve S YR
ST S (| 58 3,050 2,358 1,122 5,883 1 5 5 5 7 2] 10 4 2 1| 16
W @ E ¥ B 237 | 2,638 2,223 1,098 8,152 3l 10 4 9| 16| 23| 25 23| 18] 21f 13| 12 8| 52
® fE % B 6 1,850 2,180 1,143 3,614 1 1 1 1 2
e T 42 2,588 2,132 1,078 4,005 1 1 6 4 2 4 3 5 3 1 1 11
% ] T 36 3,175 2,394 1,375 6,317 1 8 2 3 1 1 2 5 3 3 7
& [0} T 41 3,388 2,392 1,054 6,750 2 5 5 1 1 1 3 2 5 3 13
5 T 55 2,938 2,851 1,096 9,537 1 2 5 2 5 6 3 6 2 2 3| 18
175 S T 12 3,488 2,450 1,550 3,783 2 1 1 2 2 1 3
o (R %) 55 3,088 3,051 1,563 5,541 2 4 1 6 3 1 2| 36
R (— &) 23 2,638 1,695 1,437 3,065 16 2 1 1 3
MY xok % T 8 3,688 3,719 3,250 3,875 8
BYxs i L 13 3,850 4,049 3,750 4,342 13
TR — i AR & 33 3,138 3,169 2,067 5,867 1 1 3 3 5] 20
BMoob < L 8 3,200 2,389 1,359 3,250 1 1 1 1 1 3
Vi B 4 3,325 1,917 1,250 2,544 1 1 1 1
fi (4 T 5 2,713 2,610 2,226 2,875 1 1 3
B = RN 18 1,888 1,748 1,180 2,267 3 1 1 3 1 1 2 2 2 2
L W% H B B 78 1,650 1,299 1,016 2,760 | 18| 18] 22| 13 3 2 1 1
&) i 732 26| 39| 42 57| 40| 40| 0| 42| 31| 61| 41| 28] 26 209
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T & %g S| R | | BIK ) Y | il BIK ) E | o BIK | E | Ml RAR | Y | o | RIR ) ER | am | RIK | T
BBk E ¥ B 58 8 1,543 | 1,840 12/ 1,613 | 2,657 15 1,594 | 2,363 1] 1,122 | 2,722 12| 1,615 | 2,064
W oEm E % B 237 1/ 1,098 | 1,098 39 1,173 | 1,963 40| 1,125 | 2,021 56| 1,141 @ 2,559 50| 1,099 | 2,307 33 1,143 | 2,221 18] 1,250 | 2,074
® fE ¥ B 6 1 1,896 | 1,896 12,131 | 2,131 1 2,763 | 2,763 2| 1,143 | 2,378 1 1,535 | 1,535
& 5 T 42 2| 1,143 | 1,214 9 1,473 | 2,009 8| 1,333 | 2,247 7| 1,286 | 2,754 8| 1,429 @ 2,233 7/ 1,078 | 1,808 1 1,281 | 1,281
% i) T 36 10| 1,483 | 2,022 10| 1,375 | 2,665 8| 2,181 | 2,461 4] 1,847 @ 2,988 3| 1,500 | 1,792 12,299 | 2,299
& [6) T 41 24| 1,054 | 1,885 11] 1,221 | 2,959 3] 1,640 | 2,723 302,629 | 4,030
B T 55 1] 1,328 | 1,328 10| 1,096 | 2,366 14| 1,495 | 3,142 18] 1,366 | 3,231 701,474 | 2,789 4] 1,500 | 2,095 1 1,764 | 1,764
% 8 T 12 3/ 1,550 | 1,686 4] 2,098 | 2,290 5/ 2,370 | 3,035
MR F (RFER) 55 12| 1,819 | 2,870 6 2,240 | 2,841 13] 1,563 | 3,107 15| 2,000 | 3,343 9| 2,168 | 2,867
WEREE T (— %) 23 11,437 | 1,437 2| 1,437 | 1,437 5/ 1,437 | 1,699 9 1,437 1,768 6 1,437 | 1,717
BY x5 kL 8 13,250 | 3,250 6 3,750 | 3,771 1/ 3,875 | 3,875
B0 xroBiET 13 2| 4,000 @ 4,122 4| 3,875 | 4,121 5 3,875 | 4,081 2| 3,750 | 3,750
AR — A% EE 33 1] 3,200 | 3,200 3| 2,465 | 3,302 14| 2,313 | 3,486 8 2,067 | 2,563 5/ 2,174 | 2,819 2 2,256 | 4,034
Mob < L 8 3] 2,500 | 3,000 1/ 1,500 | 1,500 2| 2,125 | 2,688 20 1,359 | 1,617
bt = 4 1] 2,250 | 2,250 2| 1,625 | 2,085 1 1,250 | 1,250
fid & T 5 2| 2,226 | 2,478 22,401 | 2,611 1 2,875 | 2,875
R A A 18 1 1,625 | 1,625 4] 1,222 1,820 3| 1,518 | 1,671 301,492 | 1,873 5/ 1,203 | 1,886 2/ 1,180 | 1,250
TEEHEEBE B 78 1] 1,417 | 1,417 2| 1,543 | 1,576 4 1,282 | 1,438 8 1,082 | 1,286 21 1,070 | 1,289 26 1,099 | 1,348 16| 1,016 | 1,161
o # 732 5 1,098 | 1,254 | 122 | 1,054 | 2,070 | 132 | 1,125 | 2,522 | 165 | 1,082 | 2,693 | 147 | 1,070 | 2,408 | 116 | 1,078 & 2,036 45 1,016 | 1,730
i3 B3 e | 100.0% ) 0.7% 16. 7% 18. 0% 22. 5% 20. 1% 15. 8% 6. 1%
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(4) BBREHSH

N 1ERH 3EYUTF 5ELTF 10 LT 155 LT 20F T 0FEUTF HEYUT HELE

T ;;% wm RA% | OEE |am) RS ER |ee) B oEm |se B Ew lew B B |am SIS | S |am| RIS 939 |am RIS P |am RIS Py

HOBE | Be |FE| 88 | B PR 84 G4 P 8 | 84 | 84 84 PR 84 84 |F% 86 | 84 |FE| 84 &8s PR 84 | 84

Bk e %8 | 58| 11,619 1,619 5 1,543 [1,667 | 211,939 (1,967 | 7 1,772 2,488 | 71,764 2,808 | 12| 1,921 2,325 | 17 1,122 2,345 | 4 1,946 | 2,757 | 3| 1,672 | 2,341
¥ om /e % B |237| 81,098 1,341 | 27 1,125 1,762 | 16| 1,099 | 2,495 | 26/ 1,333 2,051 | 26 1,141 1,952 | 32| 1,669 | 2,536 | 55 1,218 | 2,571 | 27 1,143 2,242 | 20| 1,250 | 2,079
B fF ¥ A 6 2/ 1,143 [ 1,519 2/ 1,535 1,833 22,763 | 3,188
wooom T |42 21,143 1,214 ] 81,286 (1,603 | 4 1,078 1,951 | 9 1,281 2,143 | 4|1,287 2,280 | 6|1,857 2,598 | 7 1,333 2,560 | 2 2,293 | 2,293
moom T |36 51,483 [ 1,637 | 6 1,500 1,672 | 2|2,476 3,974 | 6 1,375 2,186 | 4 2,555 |3,58 | 7/1,875 2,379 | 5 1,500 | 2,706 | 1|2,375 |2, 375
& T | 4| 61,054 1,949 | 111,139 [ 1,781 | 4 1,955 12,429 | 8 1,151 | 1,939 | 4|1,955 4,024 | 41,221 3,914 | 3 1,640 2,363 | 1 2,710 | 2,710
5 T |55 11,656 1,656 | 5/ 1,328 2,606 | 5 1,096 4,082 | 6 1,495 2,064 | 5 1,563 | 2,592 | 14/ 1,366 2,406 | 11 1,859 4,217 | 6 1,500 | 1,932 | 2/1,764 | 2,348
(2R A IV 201,550 [ 1,559 | 1]2,370 | 2,370 401,941 2,175 | 2 2,400 | 2,462 | 3|3,156 | 3,428
W TE (Fk) | 55| 4 1,821 1,914 | 112,320 3,199 | 31,819 |2,102 | 12,940 2,940 | 5 2,162 2,876 | 71,563 |3,543 | 15 1,599 3,359 | 4 2,000 3,077 | 52,250 2,772
MR E(—) | 23| 31,437 1,437 | 5 1,437 (1,437 | 21,437 (1,437 | 5 1,437 1,448 | 1]1,437 | 1,437 311,581 2,447 | 31,581 2,325 | 1 1,661 1,661
Boxo%skT | 8 13,250 3,250 53,750 3,775 | 2 3,750 |3,813
BorowiT | 13 14,243 4,243 | 3 4,000 4,203 | 53,875 4,081 | 4 3,750 | 3,844
AR | 33 13,200 3,200 | 12,313 2,313 | 14,167 (4,167 | 5 2,465 2,867 | 142,265 3,476 | 82,174 3,011 | 3 2,067 2,606
A ob < T | 8 13,250 3,250 201,500 2,000 | 22,125 2,688 | 31,359 2,161
= H 4 311,625 | 2,140 1/ 1,250 | 1,250
B % L 5 22,226 | 2,478 312,401 | 2,699
LEFHEEA | 18] 111,492 | 1,492 61,222 1,575 | 61,203 | 1,740 | 31,180 1,860 | 2| 2,250 | 2,250
LwmFEEwEaB | 8| 51,131 1,281 | 211,019 1,328 | 10 1,020 1,195 | 18 1,064 | 1,371 | 9|1,088 | 1,283 | 10 1,070 1,298 | 4 1,016 1,108 11,417 | 1,417
& | 73231 1,054 1,548 J102 1,019 @ 1,823 )56 1,020 | 2,233 | 93| 1,064 | 1,947 |84 1,088 2,327 108 1,070 | 2,607 154 1,016 | 2,826 | 67| 1,143 | 2,526 | 37 1,250 @ 2,208
ook ke |1o0%) 4% 14% 8% 13% 11% 15% 21% 9% 5%
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(5) EFREE (6) JTE5- TaEAl
57 BE BE FEE 55 JLEE 1RTEH 2RTE 3RTH
Jok FE Do e | s [ow e | v [ s | T T Do me | fom s | v [ e | v fom) s |
¥ [FH '8 | &Be | #&e  Be |FR 84 854 w |78 Ge | 856 |F% 84 | 8546 |F% 84 84 P 86 54

ek e R |ss)s7 1,122 2,353 | 12,662 2,662 1| #EEXE |58] 101,594 2,964 | 371,543 2,346 | 11 1,122 |1,847
& fE 2 B 23720 | 1,098 | 2,220 §23 | 1,250 (2,353 | 4 1,143 1,643 2 % amiEE B |237)125/1,099 (2,290 | 66| 1,125 2,029 | 37 1,098 |2, 186 912,496 2,883
e g ¥ B 6|6 1,143 | 2,180 3| & 1F % & 6 311,143 2,507 31,535 | 1,854
& T 4237 1,078 2,203 | 51,281 |1,614 4] & T f42] 32/1,078 2,062 | 10 1,473 2,359
¥ m I |s36]36 1,375 2,394 50 i ®m L |36] 51,500 1,772 | 17 1,483 |2,652 | 14|1,375 |2, 302
Y T 4140 | 1,054 2,398 | 12,152 (2,152 6] & O T |41 21,640 2,155 | 12| 2,152 (3,705 | 27 1,054 1,825
& T |55)52 1,006 2,806 | 3 |1,825 2,075 71 & T 55| 24/1,096 3,757 | 8 1,366 2,688 | 23/1,328 |1,962
oo T Ji12]i0 1,550 2,460 | 2 2,400 |2,400 gl & ¥ T |12 12/ 1,550 2,450
JEE T (FER) 55§49 1,599 | 3,024 | 6 | 1,563 |3,274 9| EERT (k) 550 91,819 3,318 | 23 2,000 2,873 | 231,563 |3, 126
JEE T (— %) 23 019 1,437 | 1,658 | 4 | 1,581 |1,880 10] EEEF (—&) 23] 13,065 3,065 212,608 2,697 | 201,437 1,528
BorossT | 8] 8 3,250 | 3,719 11 Buxo%skT | 8 13,875 3,875 | 73,250 3,696
BoxrowdET 13113 3,750 | 4,049 12] BoxrowiET |13 54,243 4,302 5|3,750 |3,875 313,875 |3,917
A | 33029 2,067 3,014 | 4 2,500 |4,292 13] LAR—mfitais | 33 ] 222,067 3,278 82,465 2,839 312,313 3,251
o < T | 8] 81,359 2389 14] ® H < I |8 8| 1,359 | 2,389
7 =4 414 1,250 | 1,917 15) & =4 4 411,250 |1,917
[ TR R 515 222 |2610 16] & & L 5 5/2,226 | 2,610
ZimiEEEA 1818 1,180 | 1,748 17] Z@EHEEA 18] 32,052 2,189 | 14| 1,203 | 1,694 111,180 |1,180
ZimmEaB |8 1,016 1,305 | 31,125 |1,150 18] z @B E BB [ 78] 151,125 (1,443 | 59 1,064 | 1,281 41,016 |1,019
a # |732)676| 1,016 | 2,324 |52 | 1,125 (2,419 | 4 (1,143 | 1,643 a | 732)256|1,078 |2,529 |294 1,064 |2,200 |173|1,016 2,213 | 9 12,496 2,883
B Rk H Joon)92% 7% 1% W ORK o froox) 35% 40% 24% 1%
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OB 1F ¥ A 58 3,050 2,358 77.3%
% owm 1F X B 237 2,638 2,223 84.3%
® F %X B 6 1,850 2,180 117.8%
& T 42 2,588 2,132 82.4%
% i} T 36 3,175 2,394 75.4%

[6) T 41 3,388 2,392 70.6%
5 T 55 2,938 2,851 97.1%
oy % T 12 3,488 2,450 70.2%
AR FO(R %) 55 3,088 3,051 98.8%
s (= &) 23 2,638 1,695 64.3%
MY xok %L 8 3,688 3,719 100.8%
Boxosi L 13 3,850 4,049 105.2%
B Nl T e 33 3,138 3,169 101.0%
L o N G 8 3,200 2,389 74.7%
= Gl 4 3,325 1,917 57.7%
fir (3 T 5 2,713 2,610 96.2%
& E W E B A 18 1,888 1,748 92.6%
Z @ H A B 78 1,650 1,299 78.7%
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